opposite 15

sinl'= hypotenuse = 17
ANS: 1

) opposite 28
sinx ==

~ hypotenuse _ 53

4o adjacent 3
cosa= hypotenuse = 5

ANS: 1
adjacent 5

cosd = hypotenuse ~ 13

ANS: 2
adjacent 16

cosx = hypotenuse ~ 20

ANS: 1

_opposite 8
tan €= adjacent 15

ANS: 2
_opposite 5
tanABC = adjacent 12
ANS: 3
it
tan PLM = SPPOSIC _ 4

adjacent 3

10

11

12

13

ANS: 2

_ opposite 8 o
tanf = adjacent 15 =0.53

ANS: 1

opposite 13

sin €= hypotenuse 85

ANS: 2
opposite 14

tand = adjacent 48
ANS: 3

e adjacent 15
cosa= hypotenuse 17
ANS: 4

IfmZ£C =90, then AB is the hypotenuse, and the triangle is a 3-4-5 triangle.





